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Cuadro 2 (continuación 2)/Table 2 (continued 2)
  Argentina: tablas abreviadas de mortalidada

Argentina: abridged life tables 
a

1970

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.060 0.057  100 000  5 712  95 538 0.939 b 6 352 908 63.5
1 4 0.003 0.011  94 288  1 071  374 166 0.990 c 6 257 369 66.4
5 5 0.001 0.004  93 217   351  465 208 0.996 5 883 203 63.1

10 5 0.001 0.004  92 866   327  463 513 0.995 5 417 995 58.3
15 5 0.001 0.006  92 539   584  461 236 0.992 4 954 483 53.5
20 5 0.002 0.009  91 955   831  457 700 0.990 4 493 246 48.9
25 5 0.002 0.010  91 124   934  453 287 0.989 4 035 546 44.3
30 5 0.003 0.013  90 190  1 148  448 082 0.985 3 582 259 39.7
35 5 0.004 0.018  89 043  1 607  441 196 0.978 3 134 177 35.2
40 5 0.005 0.027  87 436  2 325  431 365 0.967 2 692 981 30.8
45 5 0.008 0.040  85 110  3 396  417 062 0.950 2 261 616 26.6
50 5 0.013 0.061  81 715  5 021  396 021 0.923 1 844 554 22.6
55 5 0.020 0.094  76 694  7 193  365 487 0.886 1 448 533 18.9
60 5 0.029 0.137  69 501  9 520  323 705 0.837 1 083 047 15.6
65 5 0.042 0.192  59 981  11 540  271 057 0.777  759 342 12.7
70 5 0.060 0.261  48 442  12 635  210 621 0.696  488 285 10.1
75 5 0.088 0.363  35 807  12 981  146 582 0.567  277 664 7.8
80 5 0.152 0.544  22 826  12 414  83 094 0.418  131 083 5.7
85 5 0.211 0.667  10 412  6 940  34 709 0.308  47 988 4.6
90 5 0.278 0.770  3 472  2 672  10 678 0.216  13 279 3.8
95 5 0.348 0.845   799   675  2 308 0.113 d  2 601 3.3

100 ω 0.423 1.000   124   124   293   293 2.4
Mujeres/Females

0 1 0.050 0.048  100 000  4 822  96 311 0.948 b 7 022 890 70.2
1 4 0.003 0.011  95 178  1 059  377 711 0.991 c 6 926 579 72.8
5 5 0.001 0.003  94 119   270  469 920 0.997 6 548 867 69.6

10 5 0.000 0.002  93 849   227  468 676 0.997 6 078 947 64.8
15 5 0.001 0.004  93 622   395  467 121 0.995 5 610 271 59.9
20 5 0.001 0.006  93 227   514  464 850 0.994 5 143 150 55.2
25 5 0.001 0.007  92 713   635  461 977 0.992 4 678 300 50.5
30 5 0.002 0.008  92 078   780  458 439 0.990 4 216 324 45.8
35 5 0.002 0.011  91 298  1 042  453 885 0.987 3 757 884 41.2
40 5 0.003 0.015  90 256  1 329  447 957 0.983 3 303 999 36.6
45 5 0.004 0.020  88 927  1 797  440 142 0.975 2 856 042 32.1
50 5 0.006 0.030  87 130  2 572  429 219 0.963 2 415 900 27.7
55 5 0.009 0.045  84 558  3 817  413 249 0.944 1 986 681 23.5
60 5 0.014 0.068  80 742  5 468  390 038 0.914 1 573 432 19.5
65 5 0.022 0.106  75 274  7 952  356 490 0.863 1 183 394 15.7
70 5 0.037 0.172  67 322  11 550  307 734 0.785  826 904 12.3
75 5 0.061 0.266  55 772  14 854  241 725 0.659  519 170 9.3
80 5 0.115 0.444  40 918  18 150  159 215 0.501  277 445 6.8
85 5 0.176 0.599  22 768  13 628  79 770 0.368  118 230 5.2
90 5 0.239 0.714  9 140  6 530  29 377 0.265  38 459 4.2
95 5 0.310 0.807  2 611  2 107  7 787 0.143 d  9 082 3.5

100 ω 0.389 1.000   504   504  1 296  1 296 2.6

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


